PROGRAM:	1752S TERM: 02/01/08 TO 01/31/09						
TITLE:	RIVERSIDE						
ITEM NO.	DESCRIPTION	*	BASIS OF	*	ART & PRINT		*
		*	AWARD	*	Washington, IL		*
		*		*	UNIT RATE	COST	*
I.	ELECTRONIC PREPRESS:	*		*		\$0.00	*
(a)	Trim/Page-size unitper trim/page-size unit	*	80	*	\$1.53	\$122.40	*
(b)	SWOP certified digital proofsper trim/page-size unit	*	80	*	\$2.30	\$184.00	*
(c)	System Timeworkper hour	*	2	*	\$48.98	\$97.96	*
II.	PRINTING AND BINDING:	*		*		\$0.00	*
(a)	Printing 4-color processper trim/page-size unit	*		*		\$0.00	*
(1)	Makeready and/or setup	*	8	*	\$89.80	\$718.40	*
(2)	Running per 1,000 copies	*	16	*	\$12.76	\$204.16	*
(b)	Printing black ink onlyper trim/page-size unit	*		*		\$0.00	*
(1)	Makeready and/or setup	*	72	*	\$6.41	\$461.52	*
(2)	Running per 1,000 copies	*	144	*	\$6.35	\$914.40	*
(c)	Printing add'l Pantone colorper trim/page-size unit	*		*		\$0.00	*
(1)	Makeready and/or setup	*	18	*	\$6.51	\$117.18	*
(2)	Running per 1,000 copies	*	36	*	\$0.51	\$18.36	*
III.	PAPER:	*		*		\$0.00	*
(a)	White #2 Gloss Coated Text (80 lb.)per 1,000 leaves	*	48	*	\$16.27	\$780.96	*
(b)	White #2 Dull Coated Text (80 lb.)per 1,000 leaves	*	48	*	\$16.27	\$780.96	*
IV:	ADDITIONAL OPERATIONS:	*		*		\$0.00	*
(a)	Paper-banding/shrink-wrapping distribution bundles	*		*		\$0.00	*
	(includes applying distribution labels)per 100 bundles	*	5	*	\$30.61	\$153.05	*
(b)	Mailing (inludes affixing labels and	*		*		\$0.00	*
	delivery to a Post Office)per 100 labels	*	14	*	\$2.04	\$28.56	*
(c)	Packing shipping containersper container	*	32	*	\$2.04	\$65.28	*
(d)	Inserting looseleaf pages	*		*		\$0.00	*
	into publicationper 1,000 pages	*	2	*	\$40.82	\$81.64	*
		*		*		\$0.00	*
		*		*		\$0.00	*
	CONTRACTOR TOTALS	*		*		\$4,728.83	*
	DISCOUNT	*		*	2%	\$94.58	*
	DISCOUNTED TOTALS	*		*		\$4,634.25	*
<b> </b>							
		***************************************				AWARDED	

							nenenononononononononononononononononon	+
ENVISION PRINT		*	GRAPHCOM, INC.		*	LITHEXCEL		
Wichita, KS		*	Gettysburg, PA		*	Albuquerque, NM		
UNIT RATE	COST	*	UNIT RATE	COST	*	UNIT RATE	COST	
	\$0.00	*		\$0.00	*		\$0.00	
\$10.50	\$840.00	*	\$7.37	\$589.60	*	\$2.00	\$160.00	-
\$7.88	\$630.40	*	\$7.89	\$631.20	*	\$20.00	\$1,600.00	
\$78.75	\$157.50	*	\$63.16	\$126.32	*	\$80.00	\$160.00	-
	\$0.00	*		\$0.00	*		\$0.00	
	\$0.00	*		\$0.00	*		\$0.00	
\$69.93	\$559.44	*	\$47.37	\$378.96	*	\$110.00	\$880.00	***************************************
\$9.50	\$152.00	*	\$26.32	\$421.12	*	\$12.00	\$192.00	-
	\$0.00	*		\$0.00	*		\$0.00	-
\$30.35		*	\$21.05	\$1,515.60	*	\$15.00	\$1,080.00	
\$6.61	\$951.84	*	\$15.79	\$2,273.76	*	\$8.00	\$1,152.00	-
	\$0.00	*	i	\$0.00	*		\$0.00	
\$10.76	\$193.68	*	\$5.26	\$94.68	*	\$20.00	\$360.00	
\$0.58		*	\$1.05	\$37.80	*	\$10.00	\$360.00	
	· · · · · · · · · · · · · · · · · · ·	*	· · · · · · · · · · · · · · · · · · ·	\$0.00	*		\$0.00	
\$16.09		*	\$18.95	\$909.60	*	\$20.00	\$960.00	
\$16.38		*	\$18.95	\$909.60	*	\$24.00	\$1,152.00	
T		*	<b>T</b> - 2.2	\$0.00	*	T —	\$0.00	
		*		\$0.00	*		\$0.00	
\$19.95		*	\$26.32	\$131.60	*	\$35.00	\$175.00	
Ψ10.00		*	Ψ20.02	\$0.00	*	Ψοσ.σσ	\$0.00	
\$9.00		*	\$8.42	\$117.88	*	\$3.90	\$54.60	
\$1.41		*	\$4.21	\$134.72	*	\$1.00	\$32.00	{
Ψ1.11		*	Ψ1.21	\$0.00	*	Ψ1.00	\$0.00	
\$52.50		*	\$157.89	\$315.78	*	\$29.80	\$59.60	5
φο <b>2.</b> 50	\$0.00	*	Ψ101.00		*	Ψ20.00	\$0.00	
		*		\$0.00	*		\$0.00	
		*		\$8,588.22	*		$\frac{$8,377.20}$	····
0%		*	5%	\$429.41	*	1%	\$83.77	-
0/0	ψ0.00	*	970	\$8,158.81	*	1/0	\$8,293.43	
	φ1,020.01			φυ,190.01			φυ,233.43	1
		$\vdash$			-			+

								T
							Entertain non control of the control	$\dagger$
			NICHOLAS					T
MLI INTEGRATED		*	PRINTING		*	SIR SPEEDY		4
Tampa, FL		*	Summersville, WV		*	Tucker, GA		7
UNIT RATE	COST	*	UNIT RATE	COST	*	UNIT RATE	COST	2
	\$0.00	*		\$0.00	*		\$0.00	4
\$5.50	\$440.00	*	\$16.00	\$1,280.00	*	\$4.00	\$320.00	7
\$11.50	\$920.00	*	\$12.00	\$960.00	*	\$10.00	\$800.00	7
\$65.00	\$130.00	*	\$75.00	\$150.00	*	\$90.00	\$180.00	7
	\$0.00	*		\$0.00	*		\$0.00	2
	\$0.00	*		\$0.00	*		\$0.00	7
\$20.00	\$160.00	*	\$20.00	\$160.00	*	\$40.00	\$320.00	7
\$61.50	\$984.00	*	\$150.00	\$2,400.00	*	\$58.87	\$941.92	7
	\$0.00	*		\$0.00	*		\$0.00	2
\$14.90	\$1,072.80	*	\$15.00	\$1,080.00	*	\$10.00	\$720.00	2
\$52.00	\$7,488.00	*	\$35.00	\$5,040.00	*	\$4.24	\$610.56	1
	\$0.00	*		\$0.00	*		\$0.00	1
\$16.50	\$297.00	*	\$15.00	\$270.00	*	\$15.00	\$270.00	1
\$10.10	\$363.60	*	\$31.00	\$1,116.00	*	\$26.13	\$940.68	7
	\$0.00	*		\$0.00	*		\$0.00	1
\$39.00	\$1,872.00	*	\$80.00	\$3,840.00	*	\$30.00	\$1,440.00	١.
\$39.00	\$1,872.00	*	\$80.00	\$3,840.00	*	\$33.00	\$1,584.00	,
	\$0.00	*		\$0.00	*		\$0.00	T.
	\$0.00	*		\$0.00	*		\$0.00	1
\$55.00	\$275.00	*	\$75.00	\$375.00	*	\$35.00	\$175.00	1
	\$0.00	*		\$0.00	*		\$0.00	1
\$6.50	\$91.00	*	\$40.00	\$560.00	*	\$44.00	\$616.00	1
\$38.50	\$1,232.00	*	\$10.00	\$320.00	*	\$2.00	\$64.00	١.
	\$0.00	*		\$0.00	*	·	\$0.00	١,
\$42.50	\$85.00	*	\$100.00	\$200.00	*	\$50.00	\$100.00	١,
· · · · · · · · · · · · · · · · · · ·	\$0.00	*		·	*		\$0.00	
		*		\$0.00	*		\$0.00	
	\$17,282.40	*		\$21,591.00	*		\$9,082.16	
0%	\$0.00	*	0%	\$0.00	*	0%	\$0.00	
	\$17,282.40	*		\$21,591.00	*		\$9,082.16	
	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	$\Box$		1-,50=.20	T
								T

QUALITY			VERTIS				
PRINTING		*	COMMUNICATIONS		*	GPO	
		*			*	ESTIMATE	
Bismarck, ND	COCT	*	Lanham, MD	COCT	*		COCT
UNIT RATE	COST	*	UNIT RATE	COST	*	UNIT RATE	COST
<b>4-</b> 00	\$0.00		<b>**</b>	\$0.00		44 = 00	\$0.00
\$7.00	\$560.00	*	\$105.26	\$8,420.80	*	\$17.68	\$1,414.40
\$30.00	\$2,400.00	*	\$42.11	\$3,368.80	*	\$15.96	\$1,276.80
\$32.00	\$64.00	*	\$127.37	\$254.74	*	\$73.36	\$146.72
	\$0.00	*		\$0.00	*		\$0.00
	\$0.00	*		\$0.00	*		\$0.00
\$90.00	\$720.00	*	\$385.26	\$3,082.08	*	\$96.93	\$775.44
\$160.00	\$2,560.00	*	\$4.54	\$72.64	*	\$55.05	\$880.80
	\$0.00	*		\$0.00	*		\$0.00
\$24.00	\$1,728.00	*	\$48.42	\$3,486.24	*	\$20.57	\$1,481.04
\$32.00	\$4,608.00	*	\$4.54	\$653.76	*	\$18.28	\$2,632.32
	\$0.00	*		\$0.00	*		\$0.00
\$36.00	\$648.00	*	\$145.26	\$2,614.68	*	\$30.03	\$540.54
\$34.00	\$1,224.00	*	\$4.54	\$163.44	*	\$13.10	\$471.60
	\$0.00	*		\$0.00	*		\$0.00
\$52.00	\$2,496.00	*	\$23.03	\$1,105.44	*	\$32.82	\$1,575.36
\$52.00	\$2,496.00	*	\$23.48	\$1,127.04	*	\$33.68	\$1,616.64
	\$0.00	*	·	\$0.00	*		\$0.00
	\$0.00	*		\$0.00	*		\$0.00
\$36.00	\$180.00	*	\$0.37	\$1.85	*	\$34.81	\$174.0
φσοισσ	\$0.00	*	<b>V</b> 0.0.	\$0.00	*	Ψ01.01	\$0.00
\$75.00	\$1,050.00	*	\$157.89	\$2,210.46	*	\$38.53	\$539.42
\$3.00	\$96.00	*	\$30.53	\$976.96	*	\$10.30	\$329.60
φο.σσ	\$0.00	*	ψ30.30	\$0.00	*	φ10.00	\$0.00
\$32.00	\$64.00	*	\$105.26	\$210.52	*	\$67.86	\$135.72
Ψ02.00	\$0.00	*	ψ100.20	\$0.00	*	ψοι.ου	\$0.00
	\$0.00	*		\$0.00	*		\$0.00
	\$20,894.00	*		\$27,749.45	*		\$13,990.4
0%	\$0.00	*	5%	\$1,387.47	*	0.00%	\$0.00
U70	\$20,894.00	*	970	\$26,361.98	*	0.0070	\$13,990.48
***************************************	φ40,094.00	-		φ40,301.30			φ10,330.46
		-					